= ~° Sec3.2-Basic Trigonometric Equations
' Trigonometric Functions

Name:

It may help to first review where each of the main trigonometric functions are positive and negative.
Indicate the quadrants where each function, is positive and negative.
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Using special right triangles find all the solutions of @ to the equations in degrees between 0° and 360°
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Using the circle find all the solutions of 6 to the equations in degrees within the range 0°< 8 < 360°.
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Using the circle find all the solutions of x to the equations in radians within therange 0 s x <2mr
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Using the circle find all the solutions of x to the equations in radians within therange 0 s x <2mr
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Using the circle find all the solutions of @ to the equations in degrees within the range 0°< 8 < 360°.

18. sin(0) =0.78

Oz s (o18)
8, = 51206 5in‘1CE1.5ﬁ%EE15?54

8, =180 ~-51.2606 ig3-51, 2685754
e 1257794246

& ONE ANS,

THIS wilL WeK w ITH
SINE.

B, 128.7374°

=
o

102

{ B1.2G6 ok
198.74°

19. sin(f) = —0.41

6, s’ (oul)
-4, 2A4a348

eo R =24.20 ! 333, 7951652

ROD 24,0° To FiND CotEAMINAL ANGLE
BEnveeny O° AND 360°

O, & 860+ -24.20 = 335,60"
O, 180 -=94,20 = 204,20

a4, 20° o
3%.80"°
SinlC -3,41)

Anz

20. cos(6) =0.32
6= tos™ (6.32)
0,%7.34°

8.~ 36o-T.3¢°
B AE—
Ths wogks Fee (osWE

O% 208.46

7.24° o
188 .06°

Fl

cos 1, 32
71.33707312

M. Winking (Section 3-2) ©

p.53



Using the circle find all the solutions of @ to the equations in degrees within the range 0°< 8 < 360°.
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Which quadrant, if any, is described by the given constraints?

24. sin(x) >0 and cos(x) <0

Pes () NEG(-)

QOvADRANT T

25. cos(x) < 0 and tan(x) <0

NEG () NEG (-)

QuADRANT TL

M. Winking (Section 3-2) ©

26. sin(x) <0 and cos(x) >0

NEG(-) Pos &)

OuAdeANT T

p.54



